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YnpolieHue BbipaXeHUn

trigsimp(BbIpakeHue)

(311) trigsimp{tan{a)+tan{(3*a));

T cos(a)sin(3 a)+ sin(a)cos(3 a)

cos(a)cos(3 a)



[TOHMXXeHue cTeneHun

BblpaXeHus

trigreduce(BbIpaKeHune)

trigsimp (tan{a)+tan{(3*a)) ;

cos(a)sin{3 a)+ sin(alcos(3 a)

cos(a)cos(3 a)

trigreduce (%) ;

sec(alsec(3alsin(da)



PackpbiTue CKOOOK B BblpaXeHUW

trigexpand(BbIpakeHue)

(%15) trigexpand{cos (x+vy)) ;

(305) cos(x)cos{y)-sin{x)sin{y)



N30aBrneHue oT NONTOBUHHDbIX
VrIoB

@dnaz haltangles

(311) sin(x/2)+cos(x/2), halfangles:true;
et ‘\Jcos(x)+l' ‘\!l‘COS(X)l




BbIHOC 3Haka n3 nog oyHKLUMU

Dnacz trigsign

(%311) sin{-x-y)+tan{-a), trigsign:true;

(%301l) -sin{yv+x)- tan{a)

(%312) sin{(-x-y)+tan{-a);

(%302) -—-sin{v+x)- tan{a)



PacKkpbiTe CyMM YrTioB

®dnae trigexpandplus

(311) trigexpand{cos (x+vy));
(%01) cos(x)cos{y)-sin{x)sin(vy)
(%12) trigexpand(cos (x+y)), trigexpandplus:false;

(302) cos{y+x)



PackpbiTue KpaTHbIX YrnoB

®dnae trigexpandtimes

(%19) trigexpand{cos {(2*x));

P 2 . 2
(309) cos({x) -sin(x)

(%110) trigexpandtimes:false;

(%3010) false

(%3111) trigexpand {cos{2*x));
(Foll): cos(2:3)



